TRYSEERFIEICET 5

nﬂx (:tE HIL

xiE GMEMER
BERARRDEHE THER
= 0w & 5 B169107 N
K % % A
A n %
iz i # HEDIRQ2)
i ® i A =[ERTIEEHE
#wWoOE'E B BAELEBREBEIAE KMELRE 22—
= N I § N
§ :_{TTR Ty B l‘é\ﬁ& & # : N e
o #n j:,laa"\” #tm A
: %L'Mmﬁ g e AN w\ =it e ,,Ji\\
. ﬁ -# N RS SRR BoAARk S
7 s6l FEW » ﬁﬁﬂi‘ 1 " \\’%
ymc . S HA = 4 g e A
P o e e 2

)&-
ey

o

A

)ex

ﬁ
e
55 4
= wc

<
®

A ﬁ‘E\ > R ﬁm,m ///
c g g
WA o y \
L B Loy 2l 7<I£€‘JJ & \Q
= //‘;’)\ S ;‘!» Lugus \ 5%,
) 2y cEgines f"ﬁﬁ% I’L:f—fi \)a
7 1 %ﬁﬁd&&gg Z‘L\\ ux?d% b
7 % ‘\'\\u“ i EFLSE - 7%5 //
: = 3 e \*ﬁ 2 (
a rf) 3

=
\\_ﬂ
L{rﬁg*;ﬁ%
&
ol \3
LAY =
b ¥
&
% >
#O
£/ il
A
&
]
&
P
o b}
S
™ 2
W ® (o
s
ﬁ /
)
=
el
N
o

2/ 4 8 km
AINAre S \EE i —

0 250

500

1,000 m

(= 1 th PR 5 0D £ {18 th X [ — RS B TN E F b 72 ] 250000 KA L FERIT L H .

535 B(S=1:200000)

SR, EFIZEH

g

[¥](S=1:25000)

3

B




BRRA3—1 BEDEThOHLLHM. ELLVEEDEZNDHLHLHDEER
iE i ) fi B ER&S B169107 Efs

| REEE \ IR S0FE

T A R R @ # F
| FrEDOR(2) | ARAEMh A RN R

FL#l

@ HEHS

Pl i

nFEROBR S ERKE

0° ~2° — ~
— ~3° — ~
— ~7° 200 ~
— ~10 — 0 ~

8 B R 4R (T 0 < R4 D)

1 B R #R GR AR 71 <7 72)

BENEThOH S LHORE

1/2,500 % 100m
F & % W 2 A~ N {11 ¥

TERICEYBENIHE |
A3 5 emEanons |00
555555

ELLBE v

osthe |IWEBASEE (1 mm- Ly meEnich
DO R 5eBESND AN
=23 50KN/m’ 5L T 0D B 5k

TEROBEAIMUT ORE

EFR




T 5 R R # 3 F
BHX3—2 BEEYIERTILAEINSEHEICETISIE HEEE L 304/
% P D) fi B| ERES B169107 | ERs  HrEoRE) | EiEM AR =R
MEARES T HERDOEEh(m) TEROFAAFIKN/MY) | BEYMOMAP2KN/m?) | HEERKRES | TEROESh(M) | TAFROFRKAFDKN/m?) | BEMOT HP2N/m?)
No.0 0.74 23.79 9.79
No. 1 0.90 29.13 831
No.2 0.68 1864 10.44
No.3 0.45 9.60 14.95
No.4 0.44 10.09 16.30
No.5 0.83 21.15 8.87
No.6 0.85 20.59 872
No.7 0.62 11.82 11.35
No.8 0.46 6.57 14.72
No.9 0.46 5.88 14.73
No.10 0.67 9.63 12.26
No.11 0.69 14.02 10.39
No.12 0.79 17.13 9.28
No.13 0.73 16.99 9.86
No.14 0.78 17.44 9.38
No.15 0.83 20.58 8.84
No.16 0.84 23.26 8.81
No.17 0.70 19.37 10.21
No.18 0.50 13.13 13.64
No.19 0.38 912 17.64
No.20 0.40 825 16.84




